
r"yz ,'a 
ren ,'` xhqnq.08.08.2010 :dpigad jix`z0366-2115 :qxew xtqn debeleteha dpigaoeqlxiv qixea ’text :dxend .zery 3 :dpigad jyn.iyi` mekiq s
a ynzydl xzen!dglvda oey`x wlg.ze`ad zel`yd 3 jezn 2 exga1 dl`y =25:X meqg ixhn agxn ly d`ad dpekza opeazp-y jk x, y ∈ X miniiw (*)
ρ(x, y) = sup

u,v∈X

ρ(u, v) . :ekixtd e` egked;X lkl miiwzn (*) .(`). . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .;X ly zeihwtnewl witqn `ed (*) .(a). . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ..X ly zeihwtnewl igxkd `ed (*) .(b)2 dl`y =25:X ⊂ R
2 dveaw ly ze`ad zepekza opeazp;zexiyw iaikx ly iteq xtqn X -l yi (*).dneqg `id X → Z dtivx divwpet lk (**);(**) z` xxeb (*)-y egked .(`). . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ..(*) z` xxeb (**)-y ekixtd .(a)1



3 dl`y =25zeveawd lk ly jezig A-e , x ly zexiywd aikx C , x ∈ X ,ibeleteh agxn X idi. x z` zelikny zexebq-mbe-zegeztd;
inz C = A-y ekixtd .(`). . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ..C = A f` ihwtnew X m`y egked (a)
ipy wlg.ze`ad zel`yd 3 jezn 2 exga4 dl`y =25dveawd b ∈ B lkly egked .ihwtnew X -e dqkn dwzrd p : X → B idz.ziteq `id p−1({b})5 dl`y =25:ekixtd e` egked .F =
(

[−2, 2] × [0, 1]
)

\
(

(−1, 1) × (0, 1)
)

⊂ R
2 idi.R2 ly hwxhx `ed F6 dl`y =25-e ,lilb ly i
v ghyn B = {(x, y, z) ∈ R

3 : x2 + y2 = 1, z2 ≤ 1} idi.(miqiqad mr) lilbd ly ghyn A = B ∪ {(x, y, z) ∈ R
3 : x2 + y2 ≤ 1, z2 = 1}. f(−x) = f(x) -y jk x ∈ A miiw f : A → R

2 dtivx dwzrd lkly egked .(`). . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .. g(−x) = g(x) -y jk x ∈ B miiw g : B → R
2 dtivx dwzrd lkly ekixtd .(a)
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